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Question 1 (a) 

Explain one reason why the scale of economic migration has 
increased (4) 
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Question 1b 

Study Figures 1a, 1b and 1c in the Resource Booklet. 

Assess why the impact of globalisation will vary within a  country 
such as the Netherlands. (12) 
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Question 3 a i 

Suggest one way the functions of the site have changed. (3) 
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Question 3 a ii 

Suggest reasons for the change in functions identified in 3 (a) (i)  (6)  
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Question 3 b 

Explain why different media convey contrasting views on the need 
for local regeneration. (6)  
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Sample B 

 

Sample C 

People have different perceptions of a place and therefore the need for regeneration is felt 
differently by the players. For example, media such as the website ‘Love Cornwall’ portray Cornwall 
as a lovely holiday destination, to attract more tourists. People then believe Cornwall is not in need 
of regeneration as they have this perception of a picturesque area with opportunities. In reality, the 
local government and residents will argue (on the local newspaper website or Facebook) that there 
is a huge need for regeneration, due to the seasonal work and large amount of the population in 
poverty. They established the Eden Project to combat this. 
Another example is the regeneration of Newham in east London. Locals had lived there their whole 
lives and had attachments to the area and did not want the Olympic development to take place, as it 
would change the area and bring new people in. However, it was conveyed in the national TV and 
London newspapers that Newham was in high need for regeneration. When the local people did not 
agree they took to social media to portray otherwise as this is the easiest way they can express their 
views. 
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Question 3 c 

Evaluate the relative importance of local and national government 
decision makers in the regeneration of either urban or rural areas.  
(20) 
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Sample C 

Local and national government decision makers are both important players in the regeneration of 
rural and urban areas. Other players additionally play key roles (e.g. housing associations and local 
community groups), and architects have brought both additional challenges and contemporary 
innovations. 

Regeneration involves the modification of a place in order to facilitate economic growth and 
improve quality of life. Glasgow is a good example of one city which required regeneration.  
In Glasgow it was the job of national government to find information about the levels of multiple 
deprivation across in Glasgow. Scotland as whole was split into thousands of data zones, each 
ranked in order of deprivation. National government decision makers also made targets for Glasgow, 
informed by the statistics. The local government who were responsible for implementing the 
regeneration schemes, but the government were heavily involved in other ways. 
Firstly it was the national government who provided much of the funding for the local government. 
In addition to this they are largely responsible for the marketing side and the so-called rebranding. 
Through several projects they were able to reach audiences in order to try and give the city a better 
name for itself. 
No project was bigger or had a wider reach than the 2014 Commonwealth Games, which had a 
global TV audience of over 1 billion people. In addition to this, the national government invested just 
under £750m on the Games, injected into the Glasgow economy, providing a job stimulus in the 
building sector of 6,000 jobs as well as providing Glasgow with some much improved facilities. In this 
sense, the national government were important in the process of pump-priming within Glasgow 
which undoubtedly led to an increase in outside investment from other sources. 
However, the local government are usually responsible for the implementation of schemes and this 
was the case with local Glasgow government, although informed by national government targets. 
One project implemented was the Glasgow Arc, at a cost of £20m. This contemporary feature (a 
bridge) helped to improve the townscape in the city, and as well as this, as it was well-lit, it helped 
create a safe environment around the area.  
Another large project was the creation of the financial quarter by the local government. The project 
was a huge success and has attracted big companies such as ACCA and JP Morgan as well as a £188m 
BBC headquarters. Although much of the initial funding will have come from national government, 
much of the decision-making and planning was done by the local government. Since its opening, the 
district has attracted over £1bn of investment of which 90% was from the private sector.  
The local government were also key in deciding how to achieve how to achieve the national 
government target of reducing council housing stock in Glasgow. The decision was made to transfer 
80,000 council houses to Glasgow Housing Association (GHA) (one of the biggest stock transfers in 
UK history). The transfer significantly reduced the total council housing stock in Glasgow from 90% 
to 50%. Since the transfer, approximately £1.5bn has been spent improving tenants houses, making 
the GHA an important decision-maker in the regeneration process. 
In addition to this architects are another key decision-maker who cannot be taken out of the 
equation and as we can see in Glasgow have been responsible for downfalls and successes of parts 
of the project. During Glasgow’s first regeneration projects, Sir Basil Spence’s poor design of the 
council tower blocks showed how poor architecture can facilitate crime and drug abuse. On the 
other hand, recent architectural innovations such as the Armadillo and the Riverside Museum have 
been vital and have helped Glasgow establish itself as a contemporary hub. 
To conclude, local and national decision makers are both vital in the regeneration project, and whilst 
local government was important in actually setting up projects, it was the national government who 
set targets and were instrumental in the rebranding involved in attracting the Commonwealth 
Games as well as the City of Culture status. This is however not to say that other players such as 
housing associations and architects are not instrumental in the process and in many cases were 
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responsible for bottom-up projects such as the Castlemilk Housing Cooperative  responsible for 
doing up buildings in Glasgow (led by residents). 
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Question 4 c 

Evaluate the contribution of both national and global influences to 
the cultural tensions in either urban or rural areas.  (20) 
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